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QUESTION 1

Which stereotype is NOT expected to see decorating an Execution Environment instance? 

A.  

B.  

C.  

D.  

E.  

Correct Answer: D 

 

QUESTION 2

What are the names of the three compliance levels that organize the UML superstructure packages? 

A. partial, complete, interchange 

B. primary, secondary, tertiary 

C. simple, intermediate, advanced 

D. basic, intermediate, advanced 

E. basic, intermediate, complete 

Correct Answer: E 

 

QUESTION 3

An association class possesses the properties of which elements? (Choose two) 

A. class 

B. interface 

C. expression 

D. constraint 

E. association 

Correct Answer: AE 

 

QUESTION 4
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To which layers in the 4-layer metamodel hierarchy for the UML metamodel (as depicted in the exhibit) do M1 and M2
correspond? 

A. M2 = MOF meta-metamodel; M1 = UML metamodel 

B. M2 = UML metamodel; M1 = MOF meta-metamodel 

C. M2 = UML metamodel; M1 = user model 

D. M2 = user model; M1 = UML metamodel 

E. M2 = user model; M1 = runtime instances 

Correct Answer: C 

 

QUESTION 5

In the protocol state machine exhibited, what does m1 represent? 

A. part of a guard condition for the transition between S1 and S2 

B. an operation that is a feature of the corresponding interface 

C. a method corresponding to operation m1 
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D. an invocation of the operation m1 of the corresponding interface 

Correct Answer: B 
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